

$$a) n^2 - 4n + 1$$

$$n = \frac{-b}{a} = \frac{4}{1} = 4$$

$$(4^2) - 4(4) + 1 =$$

$$16 - 16 + 1 = \boxed{1}$$

$$b) z_n = n^2 + \epsilon_n + 1$$

$$n = \frac{-b}{a} = \frac{-\epsilon}{1} = -\epsilon$$

$$(-\epsilon)^2 + \epsilon(-\epsilon) + 1 =$$

$$\epsilon + (-\epsilon) + 1 = \boxed{1}$$

$$الف) (C=1)$$

$$z_n = \begin{matrix} 1 & -\epsilon & -V & -1 & -V & -\epsilon \\ \downarrow & \downarrow & \downarrow & \downarrow & \downarrow & \downarrow \\ -\epsilon & -V & -1 & -V & -\epsilon & \end{matrix}$$

$$z_n = n^2 - 4n + 1$$

$$z_1 = 1 - 4 + 1 = \boxed{-2}$$

$$\Rightarrow \epsilon a = 1$$

$$a=1$$

$$z_n = n^2 + bn + 1$$

$$z_1 = 1 + b + 1 = -2 \Rightarrow b = -4$$

$$z_n = \begin{matrix} -4 & -1 & 1 & 4 \\ \downarrow & \downarrow & \downarrow & \downarrow \\ 1 & 0 & 9 & 16 \\ \downarrow & \downarrow & \downarrow & \downarrow \\ \epsilon & \epsilon & \epsilon & \epsilon \end{matrix}$$

$$z_n = 4n - n - 4$$

$$\Rightarrow \epsilon a = \epsilon$$

$$a=1$$

$$z_n = 4n^2 + bn - 4$$

$$z_0 = -4 - 4 = -8$$

$$z_1 = 4 + b - 4 = -8 \Rightarrow b = -12$$

$$a + \epsilon \{ \epsilon a + 1$$

$$3 \{ a$$

$$a = [3, \infty)$$

$$الف) اولى = 3$$

$$اخرى = 99$$

$$\frac{99-3}{3} + 1 = \boxed{33}$$

$$ب) اولى = 5$$

$$اخرى = 100$$

$$\frac{100-5}{5} + 1 = \boxed{20}$$

$$ج) اولى = 15$$

$$اخرى = 90$$

$$\frac{90-15}{15} + 1 = \boxed{6}$$

$$د) n(A) + n(B) - n(A \cap B)$$

$$\Rightarrow 33 + 20 - 6 =$$

$$47$$